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Section A

For each question from 1 to 8, four options are given. One of them is the correct answer. Make your

choice (1, 2, 3 or 4) and write in the bracket provided.

(16 marks]

1 Study the flowchart below.

Cells

Does it contain
genetic information?

Can it trap light
energy?

Does it maintain its
regular shape?

Cell A
Based on the information in the flowchart, which letter, P, Q, R or S represents cell A and
cell B7?
Cell A Cell B
(1) R Q
(2) s Q
®) R P
4 s P

{Go on to the next page)
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2 The diagram below shows a plant cell.

Which parts are alse found in an animal celf?

(1) AandB only
(2) AandC only
{3) BandD only
(4) CandD only

3 The diagram below shows fruit @ and the key to its dispersal patiern.

Key
f :wind direction

-water direction

(1) 2)
B[ - - - = @ - = - 0
— . River ~ 74 _ Rwer w433 2
@ @
. L:;nd -. Land

( )

{(Go on to the next page)
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4 Study the diagram below.
G E
» Seed
¥
Seedling
4
Adudt plant
F —

Which of the following correctly shows the sequence of processes in the sexual reproduction
of flowering pilants?

E F G
(1) Germination Poliination Fertilisation
(2) Seed Dispersal Fertilisation Pollination
(3) Seed Dispersal Germination Fertilisation
{4) Germination Seed Dispersal Fertilisation
{ )
5 The diagram below shows flowers of two plants of the same type.
K
) L
NN ~ T ;‘.‘M
Which of the arrow(s} show(s) pollination taking place?
{1 K only
{2) L only
(3) Jand L only
{4 J, L and M only
( )

{Go on {o the next page)
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The diagram below shows the cross section of Fruit T.

Which of the following flowers most likely developed into Fruit T7

(1 o e

(3 Q)

(Go on fo the next page)
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7 Bella wants to conduct an experiment to find out whether oxygen is needed for the
germination of seeds. One of her set-ups is shown below.

. air-tight stopper
substance that “W

absorbs oxygen

damp cotton wool seeds

Which one of the following set-ups should Bella also use for a fair experiment?

(1) (2}

water

@ damp
cotton cotton
wool wool

(R {4

substance
that absorbs

water

oxygen
damp

damp cotton

coiton wool

waool

(Go on to the next page)
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Study the information in the table.

Parts where the cells are found
Types of cells Parts of a flowering pfant Parts of a human
male reproductive cells w Y
fernale reproductive cells ' X Z

Which of the following correcty identify W, X, Y and Z7

w X | Y z
(1) ovaries stigma ovaries testes
2 anther ovules ovaries tesies
(3) anther ovules testes ovaries
(4) ovules anther testes . ovaries

( )

(Go on to the next page)
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Section B
For questions 9 to 11, write your answers in the space provided. [14 marks]
9 The diagram below shows process X taking place in the reproduction of humans.

sperm A\_‘%

eqg cell

A S
{a) Name part A and state its function. [2}
{b) identify and describe process X. ) [2]

(Go on to the next page)
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10 Process J takes place in the life cycle of fruit K as shown in diagram 1 below.
part L
Process J -
part M .,- .q\_&‘\,\_ . Sand
T FritK

Diagram 1

(&) identify process J and state all the conditions necessary for process J to take place. 2]

Diagram 2 bejow shows some parts of fruit K.

- fteshy part air space

fibrous husk

seed coat

Diagram 2

(b} Explain how the fleshy part of fruit K in the diagram plays an important role in process J. [1]-

{c) Explain why it is advantageous for fruit K to be dispersed away from its parent plant. [2]

(Gn on to the next page)
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11 The diagram shows fruits G and H.
G
(@  How are the seeds of G and H dispersed? 1
G
H
(b) State one advantage of the method used by G to disperse its seeds. 1]

Arya conducted an experiment to find out if the amount of wind affects the distance o moved
-by H as shown when it was released from a certain height above the ground.

fan

F 3
v

(c) State a possible hypothesis for this experiment. (1]

{Go on to the next page)
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(dy Arya repeated the experiment five fimes with all factors kept the same except for one.

Suggest one possible way of varying this factor. M

{e) Suggest one variable that Arya could measure in her experiment other than distance d [

End of paper
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SECTION A
Q1 2 Q2 4 Q3 2 Q4 1 1 Q5 4
Q6 2 Q7 4 Qs 3 '
SECTION B
Q9 a)} Cell membrane, controls movement of subtances in and cut of cell,
b} Fertilisation, fertilisation means the female reproductive cell fusing with
the male reproductive cell,
Qio a) Germination, Water , Oxygen and warmth.
b} Provides food for the deveioping young plant.
¢} Toprevent overcrowding and competition for space, sunlight , water and
mineral salts. '
Q11 a} G:Splitting
H ; Wind dispersal
b) Does not need to rely on external agents, factors to help disperse its
seed. :
¢} Amt of wind does not affect distance moved by H.
d) The seed of the fan could be varied.
e) She could measure the time taken for the seed to reach the ground.
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